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No. TETAT X5 EREL BA BESS (P -4FBDFH{E) e
e Fie@m | 4@ Fie@m | 4@ L

REHR | AERE | HERE | PERE | AEHE | TR
_ 50cm 0.08 0.09 0.08 0.07 0.09 0.09

756 | =&HET REE ZEME—REM 8A25H
1m 0.08 0.09 0.08 0.08 0.08 0.09
50cm 0.11 0.1 0.07 0.07 0.11 0.1

757 | Z=&ET REE =EMEREM 8A25H
1m 0.09 0.10 0.06 0.07 0.10 0.11
_ 50cm 0.09 0.09 0.11 0.1 0.09 0.09

758 | =&HT REE =& RERFR 8A25H
1m 0.08 0.09 0.10 0.11 0.09 0.09
50cm 0.10 0.12 0.10 0.12 0.10 0.1

759 | =&HET REE L-kidsRBER=%& 8A29H
1m 0.10 0.1 0.10 0.12 0.10 0.12
, ) . 50cm 0.09 0.10 0.07 0.08 0.10 0.1

760 | =&HET ZELE RECELE=FHRE 8A28H
1m 0.08 0.10 0.07 0.09 0.10 0.1
50cm 0.08 0.08 0.07 0.09 0.09 0.09

761 =&H YT =FATILFEFHE 8A28H
1m 0.08 0.08 0.07 0.09 0.09 0.09
50cm 0.08 0.09 0.07 0.08 0.08 0.09

762 | =&HET YFEE ZHEAMLETIH#E 8A29H
1m 0.07 0.07 0.07 0.08 0.08 0.09
50cm 0.07 0.09 0.10 0.10 0.09 0.09

763 | =&HT INEEAR = HET L FE/NEER 8H28H
1m 0.08 0.08 0.10 0.10 0.09 0.09
50cm 0.08 0.08 0.07 0.07 0.11 0.10

764 | =&HET INERR ZFELFEPNER 8A28H
1m 0.09 0.09 0.07 0.07 0.10 0.10
50cm 0.16 0.16 0.11 0.1 0.10 0.10

765 | =F&HT INEEAR =HEILET/INER 8H29H
1m 0.12 0.16 0.11 0.11 0.10 0.10
50cm 0.11 0.12 0.08 0.08 0.10 0.10

766 | =&HET INERR ZHEIL=F MR 8A25H
1m 0.11 0.11 0.08 0.08 0.10 0.10
N . N 50cm 0.10 0.12 0.10 0.09 0.10 0.1

767 | =&HET INERR ZEFBTLEARINER 8A25H
1m 0.10 0.12 0.09 0.09 0.11 0.11
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RE mEE

No | ETH R4 SRS T PE | mems EF haia (- 4180 T 1918) e
5@ %16 5[ %16 5[ %16
RERE | AEHE | AR | HERE | HERE | AERE
50cm 0.08 0.08 0.10 0.10 0.10 0.09
768 | =&HT INERR =HELRB/INER 8A25H
1m 0.08 0.09 0.10 0.10 0.09 0.10
50cm 0.09 0.09 0.07 0.07 =
_ - = - O] BHEAOQ
769 | =F&HT BB REEETIFMER 8H24H H
1m 0.08 0.09 007 008 [ EES] &L
50cm 0.12 0.13 0.11 0.12 0.12 0.14
770 | =&HET el a5 ZFEMETRFER 8A29H
1m 0.12 0.13 0.11 0.12 0.11 0.14
50cm 0.08 0.09 0.08 0.07 0.10 0.11
7 =56 el 5 ZEHEI=FPER 8A28H
1m 0.07 0.09 0.08 0.08 0.10 0.11
N N 50cm 0.09 0.08 0.10 0.11 0.15 0.16
772 | =&ET EEFR HIM SR 8A28H
1m 0.09 0.09 0.09 0.12 0.15 0.15
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